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Wet hairstyling Unit test/key

Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.

l.

10.

11.

12.

13.

Using the fingers, combs, and waving lotion to shape and direct the hair into S-shaped waves is called:

a. thermal curling c. thermal waving

b.  wet setting d. finger waving

The product used to keep the hair in place during the finger waving procedure is:
a. setting lotion c. foam or mousse

b. hair spray d.  waving lotion

A good finger waving lotion:

a. leaves a mild residue c. should be used liberally

b. does not flake when dry d. dries on contact

Applying finger waving lotion to one side of the head at a time:

a. dries out the hair c. prevents it from drying

b. is not necessary d. is inefficient

Using the fingers to pinch or push ridges in a finger wave creates:

a. inconsistent waves c. underdirection of the ridge
b. overdirection of the ridge d. splits

Pin curls are made up of three main parts; stem, circle, and:

a. base c. cuticle

b. curl d. wave

In a pin curl, the part between the base and first arc (turn) of the circle is the:

a. curl c. wave

b. stem d. circle

The base of a pin curl is the section that:

a. gives the curl direction and movement
b. determines the width of the wave

c. is the foundation of the curl

d. determines the strength of the wave

The pin curl stem position that produces a tight, firm, long-lasting curl is the:

a. no-stem curl c. full-stem curl

b. half-stem curl d.  mobile stem curl
The full-stem curl produces:

a. medium movement c. the greatest mobility
b. minimum mobility d. atight, firm curl
Before you form pin curls, you first mold a section of hair called the:

a. shaping c. section

b. base d. parting

Uniform curls are produced by:

a. open center pin curls c. counterclockwise pin curls
b. closed center pin curls d. clockwise pin curls
If a fluffy curl is desired, use:

a. open center curls c. closed center curls

b. counterclockwise pin curls d. clockwise pin curls
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

The arc base:

a. is the most commonly used

b. is good for the side front hairline

c. can be combed into a wave without splits
d. is suitable for curly styles

One factor in the formation of pin curls that does not affect the finished curl is the:
a. amount of hair used c. shape of the base

b. size of the curl d. direction of curl

To prevent splits along the front or facial hairline in the finished hairstyle, use:
a. arc base pin curls c. rectangular base pin curls
b. triangular base pin curls d. square base pin curls

For curly hairstyles without much volume or lift, use pin curls with:

a. arc bases c. square bases

b. rectangular bases d. circular bases

Ribboning, or forcing the hair between the thumb and the back of the comb, is done to:
a. add length c. relax the hair strand

b. straighten the hair d. create tension

Slicing pin curls from a shaping and forming them without lifting the hair creates:
a. carved curls c. flatcurls

b. barrel curls d. cascade or stand-up curls
When pin curls are properly anchored, the clip enters at the open end:

a. parallel to the stem c. perpendicular to the stem
b. across the stem d. across the circle

To form a wave behind a ridge, use:

a. finger waves c. ridge curls

b. clockwise waves d. skip waves

Skip waves are a pin curl technique that is a combination of pin curls and:

a. braiding c. thermal waving

b. roller setting d. finger waving

If you want to create height in the hairstyle with pin curls, use:

a. ridge curls c. skip waves

b. carved curls d. cascade curls

A barrel curl is similar to a:

a. carved curl c. ridge curl

b. roller d. finger wave

One of the advantages of rollers is that each roller holds the equivalent of:

a. one stand-up curl c. two to four stand-up curls
b. five stand-up curls d. 1/2 of a stand-up curl
Working the hair with tension is one of the advantages of:

a. finger waves c. barrel curls

b. rollers d. cascade curls

A roller curl is positioned on a panel of hair called the:

a. curl c. circle
b. base d. stem
The stem of a roller curl is the hair:
a. ends

b.  wrapped around the roller

o

on which the roller is placed
between scalp and first turn of roller

e
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29.

30.

31.

32.

33.

The size of a roller wave or curl is determined by the:

a. circle or curl c. clip

b. stem d. base

A wave is created when the hair is wound around the roller:

a. 1/2time c. 1-1/2 times

b. One time d. 2-1/2 times

If'a C shape is desired, the hair should be wound around the roller:

a. 1-1/2 turns c.  One turn

b. SFive turns d.  2-1/2 turns

Volume is determined by how the roller sits on its base and:

a. the number of rollers used c. the anchoring clips used
b. the direction of the curl d. the size of the roller
Fitting a roller curl directly on its base produces:

a. acrisp curl c. full volume

b. the least amount of volume d.  medium volume
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